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PHILOSOPHY — HONOURS
Paper : CC-14
(Western Ethics)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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() Which theory of punishment justifies the statement — ‘An eye for an eye, and tooth for a tooth™?
(i) Reformative theory (it} Retributive theory
(ii)) Deterrent theory {tv} None of these.

(k) Which group of scientists are against the justification of punishment?

(i) Sociologists (1) Psychologists
(i}) Criminologists (iv) Ethical Philosopher,
() if the quantity of happiness remains the same, then playing and reading poetry are identical — who
said this?
(1) Hegel (1) Kant
(i) Bentham (iv) Mill.
2. Answer in brief (any five) 5x5

(2) Distinguish between the moral and non-moral sense of good.

(b) What is the relation between motive and intention?

(c) What is paradox of Hedonism?

(d) Which philosopher speaks of ‘Hedonistic Calculus™? Give a brief description of this calcuius.

{e) Distinguish between hypothetical and categorical imperative.

(1) Which theory of Ethics s acceptable — Teleogical or Deontological? Discuss in brief with reason.
(g) Discuss briefly Plato’s view on morality.

(h} How do you distinguish between Meta Ethics and Applied Ethics?

3. Answer any two questions :

(a} Distinguish between voluntary and non-voluntary actions. Explain some kinds of non-voluntary
actions. Why are they not moral? 4+8+3

{b) “There is nothing in the world or even out of it that can be called good without qualification except
a good will’. — Explain this view as per Kant. 15

(¢) Give a brief account of Act-Utilitarianism and Rule Utilitarianism. Why Rule Utilitarianism is more
acceptable than Act-Utilitarianism, as a theory? 7+8

(d) Discuss the justification of punishment. Give the arguments for and against Capital Punishment.
5+10
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The figures in the margin indicate full marks.
Choose the correct option (any ten): 1x10
{a) Which 1s the subject making of Ethics?
(i} Ideomotor action (i) Reflex action
(i) Voluntary action (iv) Instictive action.

(b) Which one of the following is a moral statement?
(i) This pen is good (i) Your answer is right
(i) One ought to keep one’s promise (iv) The flower is beautiful.
(c) Which of the following is the object of moral judgements?
(i) Voluntary action (i} Motive
(iii} Intention (iv} Consequences.
(d) Altruism regards that the standard of moral judgement is
(1) self-realisation (i) doing good to society
(ii) egoistic pleasure (iv) obedience to law.

(e) ‘It is better to be a Socrates dissatisfied than to be a pig satisfied.'— Who said this?

(1) Plato (1) Sidgewick
(i) Mill (iv) Bentham.
(f) ‘Knowledge and virtue is identical.” — Who holds this view?
{1} Aristotle : (i) Plato
{(ui) Socrates (iv) Aristipus.
{g) The science that evaluates a thing or an event with reference to an ideal instead of describing it is
known as
(1) positive science (i) normative science
(i) practical science (iv) descriptive science.

(h) According to Kant the moral ideal is
(i} God’s decree {ii} achivement of happiness
(iii) self-realisation (iv) none of these.
(i) ‘Duty for the sake of duty’— according to which philosopher is this moral principle?
(1) Arnstotle () Kant
(1) Mill (iv) Sidgewick.
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